80. XBEHMREGEH

0

=
ErHE ;; 79, TABRREMY (80, ZEBHITIGEMN |81, HLHAIEML
2 R [ AOFALEY) [ IBR [NAOFALEY) | B (A (AOFALZEY)
EEIGi 5 268] 10 2.89 3 3.81
EFmH 18 1.42 14 2.16 27 0.67
7= 10 212 11 247 4 3.62
mEf 4 2.92 7 3.16 1 9.70
TiEm™ 6 2.58 6 3.20 9 2.06
AT 19 1.41 21 1.59 8 213
BET™H 7 253 8 3.11 2 428
TiEFKT 26 0.88 24 1.24 19 117
mA+THh 20 132 20 1.62 13 1.79
&Emmh 13 1.98 12 2.31 22 1.05
1l 12 2.01 15 2.09 18 1.25
BERT 11 2.04 5 327 24 0.82
=T AT 25 0.93 26 0.93 17 1.55
H E7HT 3 3.03 2 3.78 6 3.03
ZZH BT 23 1.11 22 148 21 1.11
PlAIIE s - - - - - -
B - - - - 20 1.12
=rF 2 3.17 3 3.43 7 2.38
ALLET 27 0.57 27 0.57 15 1.71
RERT 1 3.25 1 514 25 0.81
T TErT 29 0.26 29 0.26 12 1.80
yNIIESH - - - - - -
LT 8 2.39 9 291 16 1.61
=€) /T 22 1.12 18 1.86 23 0.93
th E{EHT 28 0.29 28 029 26 0.73
& )11 BT 14 1.93 13 217 11 1.86
Fagsiliing 21 1.24 25 1.24 5 3.19
EIRET - - - - 10 1.98
HE# 9 2.38 4 3.37 32 0.20
FEETET 16 1.54 19 1.71 30 0.51
/a5 + BT 24 093] 23 1.34 14 1.74
XA 15 1.78 16 198 29 0.59
=FEH - - - -| 28 0.65
vy 17 1.42 17 1.87] 31 0.36
= 5E 2.25 254 3.22
ER ERR30E TER30E ER30FE12831H
=g XEBE TEBRE =& - R E AT - SRR ST
HFT BEKE B EARE EL5EE
k=
(NAAFAHED)
3.37
2.91
2.16
1.71
1.24
’ 0.26

40km




fe[82. EEMAIEFIERM N e ; -
AT & |1 |5 83. [t I ZEFIEMEL |84. FHEE

2| BRL [AABFALEY) [ BA [NAOFAEEY) [ IERL [N AOFALEY)
EEIGi 2 0.90 4 3.10 6 23.42
EFmH 20 0.52 23 0.82 20 10.06
7= 9 0.63 7 247 8 20.77
mEf 4 0.82 1 3.41 2 30.15
TES 21 0.52 9 210 13 15.58
JAlgTH 12 0.59 8 227 10 19.25
BET™H 3 0.83 6 267 5 29.50
TiEFKT 7 0.73 18 1.32 19 10.60
mA+THh 8 0.71 11 2.03 11 19.00
&Emmh 14 0.57 22 0.84 24 7.28
1l 10 0.61 14 1.79 18 11.17
BERT 23 0.41 19 1.22 34 2.45
=T AT 1 0.93 2 3.41 21 9.91
H EFET 6 0.76 3 3.40 1 31.01
ZZH BT 25 0.37 21 1.11 33 2.96
PlAIIE s - - - - 32 3.08
B - - - - 30 448
=rF 19 0.53 16 1.59 3 29.85
A LLET 28 0.29 13 2.00 7 20.84
REHRT 17 0.54 29 0.27 22 9.21
T {EHT 5 0.77 10 2.05 9 20.52
KINF+ - - - - 29 490
LT 16 0.56 15 174 14 13.94
=€) /T 24 0.37 28 0.37 17 11.73
bt {ZHT 22 0.44 25 0.73 23 757
51| BT 29 0.23 12 2.01 12 16.01
Fagsiliing 26 0.35 5 283 4 29.73
EIRET 15 0.56 20 1.13 15 12.70
HE# 30 0.20 27 0.40 26 5.54
FEETET 27 0.34 26 0.51 31 3.94
/a5 + BT 13 0.58 17 1.57 16 12.03
XA 11 0.59 24 0.79 25 5.93
=FEH - - - -| 28 5.23
2T 18 0.53 30 0.27 27 5.51
= 5E 0.74 243 19.65
ER TER30E12831H TER30E12H31H ER30E
=i EET - R AT - EFIERARAET |ELT- R EA - B | ERERFEEREER
HFT EXE5EE E45EE ERERFEBERR
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HETH A |1 85. EEERE 86. HWEIZEME 87. RRH

& [ IB6L e AnFALrY) | JBAL [FRAOFASEY) | BR [RAOFASY)
EEIGi 15 1.01 5 0.60 7 32.00
EFmH 27 0.75 13 0.45 17 18.56
7= 14 1.03 8 0.52 14 20.95
mEf 20 0.86 20 0.38 5 36.40
TES 29 0.74 14 0.44 18 17.93
JAlgTH 30 0.73 12 0.45 9 29.74
BET™H 19 0.92 4 0.63 4 37.38
TiEFKT 32 0.66 9 0.51 15 20.61
mA+THh 11 1.09 6 0.56 12 25.18
&Emmh 25 0.78 16 0.42 20 10.22
1l 16 0.95 10 0.49 11 25.53
BERT 23 0.82 17 0.41 - -
=T AT 7 1.24 1 0.93 24 5.89
H EFET 26 0.76 2 0.76 8 31.77
% HET 28 0.74 21 0.37 - -
bldllEs) - - - - - -
B 2 2.24 - - - -
=rF 12 1.06 27 0.26 1 59.45
Z< LT 22 0.86 24 0.29 10 28.26
REHRT 3 217 26 0.27 13 24.91
T TErT 6 1.28 28 0.26 3 43.34
KINF+ 1 2.45 - - - -
LT 13 1.04 19 0.39 16 19.68
=€) /T 10 1.12 31 0.19 21 9.50
bt {ZHT 9 1.16 15 0.44 23 7.43
51| BT 18 0.93 29 0.23 6 35.11
AN ET 8 1.24 22 0.35 2 4512
EIRET 4 1.41 25 0.28 22 8.47
HE# 24 0.79 30 0.20 - -
FEETET 21 0.86 23 0.34 - -
/a5 + BT 17 0.93 11 0.46 19 16.74
XA 33 0.59 18 040 25 494
=FEH 5 1.31 3 0.65 26 3.92
2T 31 0.71 7 0.53 - -
= 5E 0.96 0.51 26.86
ER ERK30EI0RATH ERK30EI0A1H ERK30EI0ATH
HFT EXE5EE E45EE EL5EE

HEREZEMERC
k=
(FEER(AOFAHED)
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1.41
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40km




J5[c8. ERBEREMA [89. EREBEREZ A . =
ETA & |4 | # 90. EMFFAYELTE

4| AL [% NEGL |MGsRgE 1 AL=Y) | B (% (AOFAH=Y)
EEIGi 34 20.05 19 339,711 30 3.06
EFmH 4 32.94 4 405,436 6 5.21
7= 3 33.10 18 342,367 11 434
mEf 29 22.46 15 358,469 28 3.13
TES 15 28.28 7 384,961 24 3.67
JAlgTH 12 29.02 31 288,910 12 431
BET™H 16 28.23 30 300,415 17 415
TiEFKT 5 32.77 26 318,598 7 5.20
mA+H 20 25.78 32 284,703 31 3.02
&Emmh 33 20.54 14 360,397 25 3.46
1l 6 32.49 16 351,964 29 3.07
BERT 7 31.96 3 422,200 2 6.65
=T AT 13 28.93 13 365,347 18 3.97
H EFET 10 29.58 22 330,560 32 2.62
ZZH BT 8 30.37 9 381,950 1 7.64
Jeist 19 25.85 2 435,184 10 455
B 32 20.83 5 397,473 33 2.21
=rF 1 37.38 12 371,972 14 421
Z< LT 30 22.41 33 247,670 15 418
REHRT 17 26.92 1 511,566 5 5.76
T TErT 28 23.60 20 331,904 13 428
KINF+ 31 22.30 34 218,233 - -
LT 27 24.06 10 373,810 16 415
=€) /T 22 25.54 8 382,266 3 5.94
bt 1EHT 18 26.16 11 373,677 8 5.11
51| BT 25 24.46 6 386,220/ 20 3.90
Fagsiliing 24 24.86 24 328,839 26 3.45
EIRET 23 25.30 17 343,272 21 3.87
BE& 21 25.72 21 330,759 4 5.89
FEETET 26 2413 29 301,249 27 3.37
/a5 + BT 11 29.13 23 330,276 22 3.77
XHEHET 2 34.32 28 303,862 9 479
=FEH 14 28.41 25 327,384 23 3.75
2T 9 30.29 27 316,912 19 3.95
= 5E 23.95 341,516 3.52
FER ERI0EE ERR30EE ERR30E
&3 EREERFERELKRREE. |[EREERRELRIREE | AODERE. EREXEERAD
HFT FERERSIEAD EEREBRRIKRE ELsEE. BF4
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405,436.19
381,949.65
360,397.09
339,711.26
328,838.84
301,249.02
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T ¢§ 91. INMEHEBIRT R (92. MEBETER 93. LEFAEER

2| NBEL [ (AOFALTY) | NBLL [%o(AOFAZEY) [ NERL [% (AOFAZ1Y)
EEIGi 27 100 31 1.86 1 8.09
EFmH 17 1.45 11 3.40 9 3.65
7= 22 1.24 20 2.65 15 3.27
mEf 32 0.79 30 2.01 4 4.44
TES 21 1.27 24 2.44 6 416
JAlgTH 25 1.07 17 3.07 12 3.36
BET™H 31 0.86 22 253 2 496
TiEFKT 9 1.71 6 4.92 10 3.58
mA+THh 30 0.93 18 267 3 453
&Emmh 29 0.95 28 2.06 16 3.18
1l 20 1.36 19 2.65 20 2.89
BERT 11 1.57 4 5.48 8 3.67
=T AT 12 1.53 8 3.97 7 403
H EFET 23 112 21 2.62 19 3.03
ZZH BT 24 1.09 26 218 13 3.33
PlAIIE s 13 1.52 1 6.07 18 3.08
B 4 2.21 34 1.11 - -
=rF 33 0.53 33 1.32 11 3.43
ALLET 18 1.39 3 5.57 17 3.14
REHRT 1 3.14 5 524 28 1.90
T TErT 15 1.51 14 327 22 2.56
KINF+ - -| 23 250 - -
LT 26 103 29 2.01 5 417
=€) /T 6 1.98 2 5.94 21 2.79
bt {ZHT 7 1.84 9 3.69 24 248
& )11 BT 8 1.76 10 344 23 2.55
AN ET 5 2.07 7 431 26 212
EIRET 19 138 32 1.38] 30 1.13
BHE# 28 0.98 13 334 27 1.98
FEETET 14 1.52 12 3.37 31 0.69
/a5 + BT 10 1.60 15 3.19 14 3.31
XA 3 3.07 25 230 29 1.78
=FEH 2 313 16 313 32 0.65
vy 16 1.49 27 211 25 2.40
= 5E 1.14 237 5.65
ER ERR30E TER30E ER30E
& AOBENE. FREXSEAD | ADDERE. tREASBAD [JLRIFETE
HFT EXEFEL. BEY E4E5EE. BEE BERKE

XM EEREBICKDIET [(MEERICKDFETESR [FaA4%/A0 x 1000
k= /A0 x 1000 (BMmEHEZERO/AO
x 1000

92. IMRBIRTE

(%0 (AOFAHED))

5.48
3.69
3.27
2.65
244
2.01

40km




